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Which of the following high level languages need compliers (#iz=5s) to generate
an executable file?

(A) Objective C (B) Java (C) C++ (D) C (E) BASIC

Which of the following high level languages need interpreters (JEZ###) to run
statements directly?

(A) JavaScript (B) Java (C) C++ (D) C (E) PHP

Which of the following are mobile operating systems?

(A) Google's Android (B) Nokia's Symbian (C) Oracle's Solaris (D) Apple's i0S
(E) Microsoft's Mango

Which of the following are Unix-like or Linux-like operating systems?

(A) Google's Android (B) Nokia's Symbian (C) Oracle's Solaris (D) Apple's i0S
(E) Microsoft's Mango
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A is a Layer-1 switch.
(A) hub (B) bridge (C) router (D) Network Address Translation (IP 43 )
A is a Layer-2 switch.

(A) hub (B) bridge (C) router (D) Network Address Translation (IP 43 2)
A isaLayer-4 switch.

(A) hub (B) bridge (C) router (D) Network Address Translation (IP %3 %)
Java primitive data types of byte, short, int, and long indicate 8-bit, 16-bit, 32-bit,
and 64-bit signed two's complement integers respectively. In other words, the
(A) byte (B) short (C) int (D) long

data type has a minimum value of -32,768 and a maximum value of 32,767.

In Java, the program short i; for(i=1; i>0; ++i); will loop

(A) zero time (B) only one time (C) infinite (& #5 18 [ ) (D) exactly 32767 times
In Java, the program byte k = -128; k--; System.out.printin(k); will print out
(A)-129 (B) 0 (C) 127 (D) program bug

Which sorting algorithm is the fastest one as data items become larger?

(A) heap sort (B) bubble sort (C) insertion sort (D) selection sort

The notation 120.96.183.0/27 indicates that the LAN can connect

(A) 30 (B) 62 (C) 126 (D) 254 hosts or computers at most.

The subnet mask 255.255.255.224 indicates that the LAN can connect

(A) 30 (B) 62 (C) 126 (D) 254 hosts or computers at most.



TBRAE 101 2FEEFARAMRALTENERB LS XA

B B ARARATESZAALSE 80 -4
# B i ERES £ 4 A% 2 R

10.

11.

12.

14.

15.

P oy

> MR HALSEE LS RARBREEEF—EFTHS -

Which of the following description is INCORRECT?

(A) both Apple's iPhone and HTC's smartphones use ARM processor
(B) ARM processor is a RISC architecture

(C) ARM processor is x86 compatible

(D) ARM is one of the mobile processors designed to save power
Which of the following description of Java is correct?

(A) Java is not an object-oriented language

(B) Java virtual machine can run byte code directly

(C) Java Script is identical to Java

(D) Java virtual machine is a register-based machine

Which of the following description of an integer k in C or Java is INCORRECT?
(A) k>>4 ({i77045F% shift right) is identical to k / 16

(B) k & 15 ({i77r3888 H logic AND) is identical to k % 16

(C) k << 4 (IS shift left) is identical to k * 16

(D) k ~ k (fi7C##8 H /FEY logic exclusive OR) is identical k =0
(E) k| 16 ({Z7C#E#EEL logic OR) is identical tok =k + 16

. Which of the following description of cloud computing is INCORRECT?

(A) provides lots of virtual machines

(B) provides all kinds of operating systems

(C) provides only relational database

(D) Amazon EC2 is one kind of private cloud

Which of the following protocol is NOT used in mail service?
(A) SMTP (B) POP3 (C) IMAP (D) SSH

Which of the following description is correct?

(A) HTTP uses the port 443 and HTTPS uses the port 80
(B) web page design is different for HTTP and HTTPS
(C) both URI schemes of HTTP and HTTPS are identical
(D) both performance of HTTP and HTTPS are identical

A Q0%) B4 BHES

What is ADSL? 6. What is SQL?
What is CMMI? 7. What is RAM?
What is RFID? 8. What is SPAM?

What is mobile App?
What is UDP?
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// data structure of stack (i)
int stack[32];

int sp=0;  // stack pointer

// data structure of queue ({7/)
int queue[32];

int header=0; // queue header

int tail=0;

int gcount=0; // queue count

// queue tail

// functions of stack and queue
int push(int k){
// to do here of answer 1

>
int pop(void) {
// to do here of answer 2

e
void enqueue(int k){
// to do here of answer 3

}
int dequeue(void) {
// to do here of answer 4

}

int empty(int select) {

/! to do here of answer 5
// 0:queue, 1:stack

// random boolean value (& %)
int seed=0;
int seed2=5;
int RandomBoolean(void){
static int k=5;
if(k==0) {
seed++;
k=seed2;
¥
return (seed>> --k)&1;
}
/] FEF1
void permutation(int select) {
int count;
for(count=1; count<=5; ++count)
if (RandomBoolean())
printf("%d", count);
else // O:queue, 1:stack
if (select) push(count);
else enqueue(count);
while (lempty(select))
if (select) printf("%d", pop());
else printf("%d", dequeue());
printf("\n");
¥
/] X8
main() {
int k;
for(k=1;k<=32;++k)
permutation(1); // stack
for(k=1;k<=32;++k)
permutation(0); // queue
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The following output is possible using a queune: 23514
(A)True (B) False (C) Not enough information

The following output is possible using a queune: 13542
(A) True (B) False (C) Not enough information

The following output is possible using a stack: 24531
(A) True (B) False (C) Not enough information

The following output is possible using a stack: 35124
(A) True (B) False (C) Not enough information




